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LESSON 9.3

Practice and Homework

Chapter 9 • Lesson 3  355

Name

1. 13 + 16 = 24 + ■■ 2. 28 + 35 =  + 46■■
3. 87 + 11 = 55 + ■■ 4. ■■ + 15 = 26 + 24

5. 80 + 20 =  + 50■■ 6. ■19 + ■ = 36 + 16

7. ■■ + 12 = 25 + 45 8. 13 + 18 =  + 19■■
9. 33 +  = 47 + 35■■  10. ■■ + 47 = 48 + 46

 11. 16 + 39 =  + 28■■  12. 45 +  = 8 + 54■■
 13. ■80 + ■ = 35 + 46  14. 59 + 17 = 28 + ■■

Write two numbers that will complete  
each equation. 

15. 35 + ■■ = ■■ + 42 16. ■■ + 19 = 58 + ■■

Balance Number Sentences

Write the number that will complete  
each equation. 
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17. What number completes the

equation?

18 + 25 = ■■ + 36

● 6
● 7
● 13
● 19

18. What number completes the
equation?

62 − 29 =  + 16■■
● 27
● 26
● 11
● 17

Spiral Review
19. Which number is another way

to write seventeen?

● 1
● 7
● 17
● 71

20. Which group of numbers is
listed in order from least to
greatest?

● 278, 326, 319
● 457, 382, 460
● 183, 192, 191
● 353, 361, 415

21. Which statement is true?

● 105 < 95
● 568 > 564
● 123 = 132
● 785 > 875

22. Count on by 10s. Which
number is next?

85, 95, 105, 115, 

● 116
● 118
● 120
● 125
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LESSON 9.4

Practice and Homework

Chapter 9 • Lesson 4  361

Equal and Not Equal

Write = or ≠ to make each statement true.

Name

1. 14 + 2  ●●   5 + 21  2. ●17 + 35  ●     26 + 26

3. 26 − 18     27 − 19●●  4. 20 + 14       31 + 4●●

5. 28 − 11  ●●     31 − 13 6. 32 − 15     30 − 13●●  
7. 19 + 12     12 + 19●●  8. 27 + 12     16 + 24●●  
9. ●39 + 16  ●   38 + 16  10. 34 − 17  ●●    16 + 1 

11. 21 − 6  ●●     38 + 16 12. ●21 + 11  ●     44 − 12

13. Circle all the cards that make the
statement true.

5 ∙ 4 ∙ 5 7 ∙ 7

9 ∙ 5 7 ∙ 9

∙ 14
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14. Which makes the equation

true?

37 − 18 =            —  

● 20 − 1
● 4 + 5
● 38 − 21
● 12 + 17

15. Which makes the equation
true?

15 + 75 =            —  

● 56  53
● 100 − 7
● 34 + 57
● 42 + 48

+

16. Which is another way to write

80 + 9?

● 8
● 9
● 89
● 98

17. Which is another way to
write 56?

● 50 tens 6 ones

● 60 tens 5 ones

● 6 tens 5 ones

● 5 tens 6 ones

18. What is the value of the
underlined digit?

758
● 7
● 70
● 700
● 750

19. Which is another way to write

30 + 7?

● 10
● 37
● 73
● 307

Spiral Review
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Chapter

9Chapter Review

Chapter 9  363

1. Alejandro has 41 green marbles.
He trades 8 of those marbles for
13 yellow marbles. How many
marbles does Alejandro have
now?

Complete the bar models for
the steps you do to solve the
problem.

 marbles

56 − ■ = 23

2. Write a story problem that could be shown with the
equation. Then solve.

3. Write the number that will complete the sentence.

+ 23 = 14 + 35
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6. Jacob’s puzzle has 84 pieces.
Jacob puts together 27 pieces in
the morning. He puts together
38 more pieces in the afternoon.
How many pieces does Jacob
need to put together to finish
the puzzle?

Complete the bar models for the
steps you do to solve the problem.

 more pieces

4. Victor has a box of 24 pencils. Which equation could be
used to find how many more pencils he needs to have
50 pencils?

● 24 + 50 = ■

● ■ − 24 = 50

● 50 − 24 = ■

5. What number completes the equation?

68 − 39 = + 16

● 29

● 13

● 12

● 18
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 Chapter 9  365

 7. Some balloons were in the room. Then 13 balloons 
popped. Now there are 27 balloons left in the room. 
How many balloons were in the room to start? Which 
equation solves this problem?

67 − 58 = 

● 27 − 13 = ■

● ■ − 13 = 27

● ■ + 13 = 27

Write = or ≠ to make the statement true.

 8. 16 + 52    33 + 34 9. 38 + 15    34 + 19

10. Which makes the statement true?

● 6 + 6
● 12 − 9
● 5 + 4
● 10 − 3
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11. Jay has 16 crayons. Suki has 24 crayons.
How many more crayons do they need to
have 50 crayons altogether?

Draw or write to show how you solve the
problem.

 crayons

− 16 = 14 + 25

17 + 16 ≠ 

13. Circle all the cards that make the statement true.

12. Write the number that will complete the equation.

13 + 18 15 + 18

12 + 12 + 3 13 + 13 + 7
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